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Which of the following is not a type of cultural/
vegetative measure of controlling erosion?

(A) Contour bund

(B) Contour farming

(C)  Strip cropping

(D) Critical area planting

(E)  Question not attempted

frafafaa 9 9 9 91 wee o [k =13 o

HiEah{cieh/ 1Tk U el 22
(A) T
(B) T

(C) YRR Gt (&g shifdm)
(D) ferfeenar wfta wrifen
() Iqaid g

Which of the following is not an artificial cause

of waterlogging?

(A) Deep percolation from rainfall

(B) Blocking of natural drainage channels

(C) Heavy seepage losses from unlined canals

(D) Hydraulic pressures from upper saturated
areas at higher elevations

(E)  Question not attempted

fAfIRad & | S 91 STeTvd T HiH HR0T T8l

27

(A) 9§19 TR HqFE

(B)  Tehfdeh ST frehTell Sct T ST, BT

(C)  TomT wTe aTedt Tt & Wil T Jeam

(D) 3= HAE W 90 €q9 &Af ¥ sRScish
CCIC]

(E) 3rafid 9%

From the following list, select the method for
water erosion control which is not considered as
a biological method.

(A) Contour cultivation

(B) Water drainage pattern

(C) Cropping systems

(D) Tillage practices

(E)  Question not attempted

frefaftad g=t & & Sto 3taee o &t 9 fafy

= o Siferes fafy 7€ wmr SImaT )
(A) GH=T Tt

(B) ot ferepredt Set

(C) ®Ed JUITet

(D)  ars ggfoat

(E) Igaid g

E10]

Given below are two statements:

Statement I: Contour cultivation reduces the
velocity of overland flow and retards soil erosion.
Statement II: Crops like sorghum, pearlmillet
etc. are ideally suited for contour cultivation.

In the light of the above statements, choose the
correct answer from the options given below.
(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is true but Statement I is false
(D) Statement I is false but Statement II is true
(E)  Question not attempted

T 1 YHI=d Qell JH JaTE o 9T %l FH HLdl &
ST T[T 3TUE T T e 2

HUA 11: SR, TSN (S BHA THI=d Tl o T
e &l

ITITH I o YehreT H, = Su T forshedt # 6 Gt
ST A

(A) 1 3R 11 341 4T &

(B) e I 3T e 11 ST 31T &

(C) & 1 T § ifehd o I 39T §

(D) YA | 3T & Ao o [1 9 &

(E) rgaia g

Which of the following is not a type of strip
cropping systems?

(A) Contour strip cropping

(B) Wind strip cropping

(C) Water strip cropping

(D) Buffer strip cropping

(E)  Question not attempted

Freaferfiaa & & i fige it Reeew 1 s e
2

(A) Rt fegmshifd
(B)  fefe fega shift
(C) e &g shifdr
(D) = fegw swifd
(E) 3gaid o=
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From the following select the condition which

does not favour wind erosion.

(A) Dry period

(B) Broad, flat or undulating topography over
which wind can move unchecked

(C)  Absence of protective cover on the ground

(D) Presence of moisture in the soil

(E)  Question not attempted

frefetiea 5 & o Reorfa =3 ST o S19%e o S1gee

TR

(A) I I

(B) IS, GHAS AT TSGR TIATHIT IS8 T gaT
T Teh-21eh =1t whell &

(C)  STHIT W LT shel =l T 3191

(D) gt o et <t Sufeerfa

(E) 3rgaid 9

The factor which causes minimum influence to
wind erosion at any particular location is:-

(A) Climate (B)
(C) Soil (D)
(E)  Question not attempted

T8 Sk ST Tohelt TRy T 0T 91 ST0eeT 1 ol
HT JATTr HT -

Fauna

Vegetation

(A) Sarg (B) Sia-siq
©) fugt (D) FTfd
(E) gaid g

From the following, select the option which is not
considered the functional part of surface drainage
system.

(A) Collection system

(B) Disposal system

(C) Storage system

(D)  Outlet

(E)  Question not attempted

freferfiga o & o8 fasped < S wdel st fepreft

Tt AT hATcHeR WRT & HIAT ST 2
(A)  HUE JuITe!

(B) T yomredt

(C)  YSRU YUrTet

(D) Tl (3=ee)

(E) Igaid g%
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Which of the following types of farm ponds is
considered as the most common type of farm
ponds?

(A) Dugout ponds

(B) Surface water ponds

(C) Spring ponds

(D) Off-stream storage ponds

(E)  Question not attempted

frefafiaa # @ fohe TR &% ©d aTamEi Sl gad
T Yo o W qTeATsll § & WHT ST 82

(A) IS T qTeATs

(B) Hdal SIS draTsl

(C) 3 o aTere

(D)  STIET (SATH-ELH) HEROT AT

(E) aid

Adoption of conservation farming practices to
improve agriculture and to reduce all type of
erosion is considered as a part of

(A) Watershed management

(B) Tillage

(C) Surveying

(D) Gully making

(E)  Question not attempted

Y H R 3 A THR & FTd Hl FH HH 6

et yaren wisgamr . w T
T AT ST ®
(A)  TA-TavTeTeh JeieT
(B) ar
(C) Hdequr
(D)  JTSHTART SHMT
(E) a9
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13

In tractor, for a self-propelled wheel, the pulling
power is with the applied torque,
overcoming the motion resistance of the wheel.
(A) Five (B) Zero

(C) Two (D) Three

(E)  Question not attempted

SFI H, Teh TF-ATeTd el o o, effem i i
qfed % Tfd gl o e T % fore @ e 3tk
& Ty &It 2l

(A) d= (B) A

() = (D)

(E)  Question not attempted / 3ﬂ?|ﬁﬁ Iq

The famous draft control system in tractor was
in 1920

(A) Harry Ferguson

(B) Brixius

(C) Kingston

(D) Bartley

(E)  Question not attempted

FET T TG STH et FiEeH ot SATfasshe
T 1920 F 3 W foRAT M

(A) & wEE

(B) feforaaa

(C) Tehreeq

(D) e

() Aqaid %

invented by

In dynamometers of tractors, with
resistance coils are popular for precise test work.
(A) Prony brake

(B) Hydraulic pump

(C) Electric generators

(D) Magnetic drag

(E)  Question not attempted

FEU o SEAHHIET H, Tfeier shigel & 91T

Tieh wET e ok fore ARl &)

(A) TSR

(B) eI 4a

(C)  Feifargsh S

(D) Hafesw g

() qaid
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The rate of heat flow through unit thickness of
material per unit area normal to the direction of
heat flow and per unit time for unit temperature
difference is known as

(A) Thermal conductivity

(B) Enthalpy

(C) Thermal diffusivity

(D) Specific heat

(E)  Question not attempted

fer 3T & § 3RS HIeTS % vere ¥ ST yaTe i
fam & | qur gfd 3RS 99T B g8 dTaHe
FHd & faT A7 yaTE i T A FETH
EICIS I

(A) U STl

(B)  qUT AT (Tl

(C) ATt foRoTetierar

(D)  fafsrs e

(E) gaid 9%

Which of the following food is considered as
complete food?

(A) Pulses

(B) Cereals

(C) Leafy vegetables

(D) Milk

(E)  Question not attempted
frrfcrfiad 9 @ & @1 HISH qf IS AT ST 22
(A) 3

(B) N
(C) Ui Hfssrat
D) =T

(E) 31qild 9%

Which of the following is not a mode of
conductive drying of food materials?

(A) Vacuum drying

(B) Airdrying

(C) Drum drying

(D) Drying in superheated stream

(E)  Question not attempted

frfaRad 9 € &9 |1 @ yert & Yareshd g
T IRt TE 82

(A) Aot =

(B) ST

(C) SHIEHT

(D) 3fcr 7T 9T o Y

(E) gaid 9
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Given below are two statements:

Statement I: Drying is an operation based on
simultaneous heat and mass transfer.

Statement II: In convective drying, hot and dry
gas (air) is used both to supply the heat necessary
for evaporation and to remove the water vapour
from the surface of food.

In the light of the above statements, choose the
correct answer from the options given below:
(A) Both Statement I and Statement IT are true
(B) Both Statement I and Statement IT are false
(C) Statement I is true but Statement II is false
(D) Statement I is false but Statement II is true
(E)  Question not attempted

HAT [: GEMT () Th A1 FHT ST ZqqH
TN TX ST Teh TFRAT 2

HAT [1: HAE 1T e H, AR o6 oA AT
AT 3 SATYf L ST HISH hl e U ST o b
g & foe i ot 3k A (@) 6 S
ST 2

ITh A o TR H, A faq T forshedt # @ et
Wﬁﬁ

(A)  FIT 1 IR HAT 11 SHT T &

(B) oo I 3 e 11 ST 318cd &

(C) &A1 U & ATk Y 11 37T &

(D) T 1 3TE © ok eF [ HeT §

(E) Srgaiaug

E10]
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A gender friendly rice weeder has the approximate
weeding efficiency of weed cutting, uprooting

and incorporation in the soil, as

T, ToftT 377het - TR et H TRUdaR e, IS

3T gt & iy <1 FoTs TS ST aAr T

Bl 2
(A)  70-75% (B)  80-85%
(C)  50-55% (D)  60-65%

(E)  Question not attempted / ST T

Which of the following is NOT a tractor drawn
row crop cultivator?

(A) Lister cultivator

(B) Rotary weeders

(C) Rod weeders

(D) Dutch hoe

(E)  Question not attempted
frfafaa & @ #19 39 ¥ I 1T Uk v
EOiECIE B R

(A) o Fwedtaet
(B) Tt

(C) Tsdite

(D) TT &

(E) STgaiawd

In flame weeders, at what angle the burners are
mounted with the horizontal, so that blue hot
flame can be directed to the ground on the grass

and weeds among plants?

T ST H ST Rl s 9 ford shIvr o v ST
?, qifer Aiell T & Rl S 9 drgt % S e

EUAIR W STHIT 9T f3ef3re fomam s aen?
(A)  30°-45° (B) 10°-15°
(C)  15°-20° (D)  60°-80°

(E)  Question not attempted / 377 e
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Which of the following is not a method of placing
fertilizer in the soil before and after sowing?

(A) Deep placement

(B) Contact placement

(C)  Subsoil placement

(D) Aquatic placement

(E)  Question not attempted

frmfafiaa & & i &t faftr 9am8 & veet sfieame &

it o 3ot et ol T 72
(A) SUEEe

(B) @hI-eH U

(C) UeHIsd wgHe

(D) TS waHe

(E) SIgaia

Tractor drawn hydraulically operated platform

has a reach height of approximately
(A) 1m B) 1.5m
(C) 4m (D) 25m

(E)  Question not attempted

FE W Wi IH AT BTEG ek HATTeAd THiH

1 U SIS AT 2

(A) 1HRE (B) 1.5
(C) 4¥x (D) 25T
() gaid v

The threshing efficiency of a multi crop thresher
used for threshing wheat, maize, sorghum,
soybean and sunflower etc. is approximately-
T, HFHT, S, ARSI S GTsrelt e <ht gf
& foru ST fopu ST ATt g et e ot AfdT
TFATATT R

(A) 50% B) 98%

© 75% (D) 85%

(E)  Question not attempted / Ha?lﬁ_cf Iq

E10]
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The method of plantation of high water-
consuming trees like Eucalyptus, Casuarina and
Acacia for withdrawal of groundwater is termed
as-

(A) Mole drainage

(B) Bio-drainage

(C) Tube drainage

(D) Gravity drainage

(E)  Question not attempted

Ioret TehTelt o fore garforad, Sgdian S et st
TR Tt T @O ATl Ui o 9T AT forfer st <
el STl 27

(A)  HIE A (F)

(B) ST A (F7)

(C) T TATHTE (S70)

(D)  TTECATHYUT TR (SST)

(E) gaid o

Which of the following is not a watershed

development project in India?

(A) Drought prone area programme

(B) National Flood Control Project

(C) Desert Development Programme

(D) National Watershed Development Project
for rain fed areas

(E)  Question not attempted

frafafad 9 @ &4 o IRd § Safadsie  fawm
afEreT 7 82
(A) HET Yo & HEHA
(B) TS TG Faisror aieisT
(C) frear fasma swrisny
(D) aut Rifua &et % foe ool Srafases
[EEACRIIRIEE]]
(E) 3qaid o
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Select the correct equation to show the water
requirement of crops in terms of source of water.
Given- WR= Water reqirement

IR= Trrigation requirement of crop at field head
ER= Effective rainfall

S= Stored moisture

ST o B o HeW H FHAT i THT T SATTIRAT i
29T o foTT wet gHieor o6t =9 i)

femmre-

WR= 9T sl STl

IR= TS 28 W oS I =TS STTawerdr

ER= Y¥Tal! i,

S=Hufed T

(A) WR=IR-(ER+Y)

(B) WR=IR+ER+S

(C) WR=IR-ER+S

(D) WR=IR+ER-S

(E)  Question not attempted / 31@?1'?@ Iq

The frequency with which water is to be applied
based on the need of the crop and the nature of
the soil is known as-

(A) Trrigation Scheduling

(B) Water Budgeting

(C) Irrigation requirement

(D) Runoff Frequency

(E)  Question not attempted
FH T A 3T gl AT TRl & AR | 59

ATGfT % |1 T ST ST § 39 el el @-
(A) o= gu-anfoft

(B) AN

(C) TE=g i stravaehar
(D)  3TTE ST

() AJaid

E10]
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30

Mainly due to heavy precipitation in humid
region, which of the following is most required?
(A) Water logging

(B) Drainage

(C) Sluice

(D) Evaporation

(E)  Question not attempted

T T Y ST & H Wi i o o, efafaa o
T forgeht saferen STrawshar Brdt 22

(A)  STeva

(B) i et

(C) SIER

(D) ATSHTeRLT

(E) 3qaid 9

Which of the following method is adopted in
nurseries, seed beds and rain-fed crops?

(A) Life drainage

(B) Gravity drainage

(C) Field surface drainage

(D) Ditch drainage

(E)  Question not attempted

T, F (AT %) AR aul AT wEdr §
frefafaa o & & @ fafdr 19T St 82

(A)  SiaT SrefTeprt

(B)  TTecaTohYUT STTl-TehTel

(C) &7 UdE STAfhret

(D) T8 S famrEt

(E) rgdia o=

Kajli teej festival is unique to which of the
following place in Rajasthan?

(A) Ranakpur (B)
(C) Jodhpur (D) Bundi

(E)  Question not attempted

et ISl e TSTed™ & fefaiad & & fore
T o fore sty &2

Jaisalmer

(A) TEHER (B) ST
(C) Si¥q (D) ot
(E) a9
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The practice of tying a ‘safa’ (turban-tying) in

Rajasthan was on account of multiple reasons.

Which of the following is not applicable -

(A) Itis a symbol of pride and identity.

(B) It protects the wearer’s head from extreme
temperatures.

(C) It can be used as a rope to draw water from
wells.

(D) It can be used as a rope to make a swing.

(E)  Question not attempted

USRI § |6 S T T &5 wRom 9 off)

FreAferfia & -1 o ST T B -

(A) B TE TR YE=H HT Tt 2l

(B) I U oA % TR &t STfes qmue &
EEIGIE

(C)  3HeT SUANT 31 & I Wie o foTe Tt
9 T foRAT ST Heha 2

(D) ST IUANT el S o foTe welt & &0 4
foraT ST T 2

(E) raid g

Lachhi Ram is related to which folk drama?
(A) Hela Khayal

(B)  Jaipuri Khayal

(C) Kuchamani Khayal

(D) Shekhawati Khayal

(E)  Question not attempted

TSt TH HT HeleT fohdl ATk ek o 27
(A) T

(B) AT

(C) T =T

(D) IEER &

(E) 3rgafid 9%

On which festival, unmarried girls pray for a
suitable groom by worshipping Shiva and
Parvati?

(A) Teej

(B) Gangaur

(C)  Akshaya Tritiya

(D) Holi

(E)  Question not attempted

fore iier W SAfaarted deferat e i urddt i

TS ek 3T I hT T Lt 82
(A) =

(B) TUTIR

(C) AT qdrar

(D) ®Ict

(E) Igaid o=

E10]
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35
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37

The men of Rajasthan wear which types of turban
in marriages?

(A) Lahariya (B) Madeel

(C) Floral prints (D) Mothda

(E)  Question not attempted

TSTET & 7oy, forame & foret wehme ot were ot &
(A) & (B) W&

(€ gwufie (D) HiaeT

(E) a9

Which of the following dance is famous as the
dance of the Rajasthan state performed by
women?

(A) Dhol dance

(B) Ghoomar dance

(C) Valar dance

(D) Garba dance

(E)  Question not attempted

frafafaa & & i a1 37 TsTerH U | ufearsi

FT ToRAT ST ATl IRTE, T 82

(A) @I (B) THRIA

(©) F@WIE (D) WATA

(E)  3{mild 9

Which of the following is the famous folk theatre
of Jaipur?

(A) Tamasha (B) Swaang

(C) LeelaNatya (D) Nautanki
(E)  Question not attempted

frfafad § & S ST 1 e A (i 22
(A) THTRIT (B) E&m

(C) diarrea (D)

(E) STgaiawd

In 2010, UNESCO included which dance form in
its intangible heritage list?

(A) Bhawai dance

(B) Terah Taali dance

(C) Valar dance

(D) Kalbeliya dance

(E)  Question not attempted

2010 H AT = fober T it ohl 37+ 3197 forrera
et afrer fopem

(A) I

(B) el I

(C) T

(D) AN I

(E)  3gild o=
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Which fair is held on Kartik Purnima at Kolayat
in Bikaner?

(A) Kaila Devi fair

(B) Kapil Muni fair

(C) Karni Mata fair

(D)  Shri Mahavirji fair

(E)  Question not attempted

TR & hIcId | hlfdeh IOTHT T i |1 Hell
AT 82

(A) ST <ot BT

(B) iUt Helr

(C)  <Tuft HTdT Bl

(D) =TSt Ber

() raid 9

The Chezy’s formula, used to estimate the
average velocity of uniform flow in open channels
is represented as-

Given: V=mean velocity of flow in the channel
C= Chezy’s coefficient

R= Hydraulic radius of the channel

S= Slope of the channel bottom

Gl <A H FHI JTE o ST o1 hT STTHA
¥ Fere ST Fop ST TSt ST % A < S
ERIRIRIRIES

feam T & V="t 9 WaITe o e o

C==Isfl TUrieh

R= =1 &I gTggiferss fsan

S= S T T A

(A) V=Cxy/RxS
B) V=CxR+S
(C) V=Cxy/R+S

(D) V=C+RxS

(E)  Question not attempted / 34'@'&?[ 99

E10] (&
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The most important tillage implement classified
under primary tillage which has wider usage all
over India is-

(A) Puddler

(B) Disc harrow

(C) Indigenous plough

(D) Cultivator

(E)  Question not attempted

Serfireh TS 3 it i G e A
IYR STt T AR F AT YA T B, 98
=

(A) TR

(B) Te=rau

(C) emftad

(D) FHedae

(E) Igaid v

In animal-drawn mouldboard plough, which of
the following part is used to control the depth of
the soil and has convenient handles for easy

operation?
(A) Gauge wheel (B) Share
(C) Landside (D) Handle

(E)  Question not attempted

URI-SATeTd Aieede g H, frfafiad § & &9 a1
AT firgh o Tt ot IR e o fore ST o
ST & SR 3 S Hae & (g glersie
A B 82

(A) T (B) I
(C) vieHmEs (D) &
(E) a0

Among secondary tillage equipments, which of
the following performs functions intermediate
between those of plough and the harrow?

(A) Cultivator (B) Disc

(C) Mouldboard (D) Rotavator

(E)  Question not attempted

fadren S[ATs SweRwl | @, Ffafiad & @ M 1
T ST & o of < wead! s hidT 82

(A) el B) fe=

(C) Wicsdle (D) TREXE

(E) aid 9

[ Contd...
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Using auger digger, pits can be dug upto a depth

of in the orchards and forests for planting

saplings.

(A) 160-220 mm

(B) 350-400 mm

(C) 100-150 mm

(D) 450-600 mm

(E)  Question not attempted

AR &R &7 ITFNT ek, Gie & o fore sfi=n
TR STt T TS qh TS Wia S Fhd
H

(A)
(B)
©)

160-220 faet
350-400 et
100-150 foet
(D)  450-600 et
(E) SIfaia

Which of the following is one of the first improved
tillage implements to be introduced in India?

(A) Ridger

(B) Mouldboard plough

(C) Rotavator

(D)
(E)  Question not attempted

freferfiga o @ =4 o1 wia 9 7% o S arer
TElT S~Td TS SUHT 27

A) &

(B) Hicsdls &

(C) WX

(D) AR

(E) gaidud

The hand fiddle, consisting of a rotating horizontal

Cultivator

disc is a-
(A)
(B)
©
D)
(E)  Question not attempted

e v fert Feeep & 7 B Reer & —
(A)  TTE TH

(B) TS ( STSHIET ) SR

(C) =S Susmr

(D) s SuaT

() Iqaid g%

Transplanting device
Broadcasting implement
Irrigation implement
Weeding implement

E10]
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47

Which of the following is not a principle of soil-

conservation measures?

(A) Reduction of raindrop impact
(B) Reduction of splash erosion
(C) Control of gravity

(D) Control of runoff

(E)  Question not attempted

ffafad & @ & |1 gar-ateger 3ur 1 frgia
BN

(A) d9leg o T H HH
(B) TRl &hard | FHHt
(C)  TrecaTshyor 9T fRiror
(D)  ITIATE T 0T

(E) orgafaus

The science that deals with the waters of the

Earth, their occurrence, circulation and

distribution is known as-
(A)
(B)
©)
(D)
(E)
T} o ST, ITeh! Jurefe, TiE=Rer iR foawor &
Geiferd o Y = e 2

(A)  ETEgIeifeT

(B) It Here (RTegTaiiF)

(C)  wTEfee Senfihr

(D) SIAIREE (ESHTET)

(E) 3qaid 9

Hydrology
Hydroponics
Hydril technology
Hydrophyte

Question not attempted

[ Contd...
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Which of the following is not a method for
estimation of rate of runoff, that can occur from a

particular catchment?

(A) Logistic method

(B) Rational method

(C) Curve number method

(D) Soil conservation service method
(E)  Question not attempted

forelt foreis STeTareer &5 9 B9 aTet 319aTE hi <t
ST A o fore Frforfaa & & i o fafer 78
27

(A) ol fafer

(B)  dehEa fafeyr

(C) @k T fafer

(D)  WaT Heegor |idy fafe
(E) SIfaia

Select the useful areas of farm ponds from the
following list.

a Fish production

b Electricity generation

c. Irrigation

d Water supply for the cattle
e Supply for drinking water

Choose the correct answer from the options given

below:

(A) a,b,and e only

(B) bandd only

(C) a,canddonly

(D) candeonly

(E)  Question not attempted

frfofiaa gt & W dTema o YA &= o =
£

a. WSl 3R

b. ol SeuteT

c. fo=m

d. WA o forg art st g
e. MU Sl
:ﬁ%ﬁqnqﬁwfrﬁuﬁwaﬁ
(A) Facda, b3 e

(B) wadb3Rd

(C) dca,c3Nd

(D) Fadc3Me

(E) Agaid =

E10]
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Depending on the source of water and their
location with respect to the land surface, which of
the following is/are not the type(s) of farm pond?
a Excavated ponds

b Creek fed ponds

c. Dyke ponds

d Off-stream storage ponds
e Watershed ponds

Choose the correct answer from the options given

below.

(A) bonly

(B) aanddonly

(C) conly

(D) eonly

(E)  Question not attempted

T 3T TE o Heer | U ok | 3 ITh A
YR R, Fefafad & 9 9 978 @d e 6l
TR T B2

a. TS ATl drers

b.  ohi % dTaTe

C. S EEIGINIE]

d.  SATh-EH YSRuT drette
e.  SICISTSIeh aTaTel
et fow e foreheat # € et 3O |
(A) FEaAD

(B) whdcla 3 d

(C) wadc

(D) Fade

(E) rfdia o=

An area from which runoff, resulting from
precipitation, flows past a single point into a large

stream, a river, lake or an ocean is known as-

(A) Watershed (B) Farm pond
(C) Nadi (D)  Anicut
(E)  Question not attempted

T &7 el ¥ a9l o UNOTHEEY ST9dTe U fog o
TRt ferelt <t ey, 7, 3fter = meram R | firer Strar

(A) Sdfg9e®  (B) E©ddrdd
(C) T (D) TR
(E) 3l 9%
[ Contd...
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In rice transplanters, approximately how many

days old seedling is used for transplanting?

(A) 15days (B) 17 days

(C) 22 days (D) 30days

(E)  Question not attempted

TS T TS LA ATt HAHT H, ST fohe e
QU GTeT SR TS o for secTe fobarm SiTar &2

(A) 15f@ B) 17f@

(C) 22f@ (D) 30fe

(E) gaid o=

Name the angle at which the plane of cutting
edge of the disc is inclined to the vertical.

(A) Discangle

(B) Horizontal angle

(C) Vertical angle

(D) Tiltangle

(E)  Question not attempted

3 SHIVT ST AT FATST o IR Teweh o i w1
el AT Y FohT EAT 2

(A) feem o (B)  &fast o

(C) FEER® (D) HAfd T

(E) 3rgaid o

The tractor mounted seed-cum-fertilizer drills

places seeds and fertilizers, approximately
__ ha/day.

(A) 12t023 (B) 32to4.6

(C) 25t03.0 (D) 03tol.1

(E)  Question not attempted

FR W A f-we-3at g & 9 3R 30
(it SR = ot CE IS S I G R

(A) 12823 (B) 3.2¥46

(C) 25¥3.0 (D) 03311

(E) Srgaiaug

E10]
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Which of the following mechanism is widely
used in seed drills which are capable of handling
seeds of various crops in cereals and pulses?

(A) Fluted rollers

(B) Stationary oriface

(C) Helical roller

(D) Vertical rotor

(E)  Question not attempted

Frefafaa & & & dt yoreft sfisr fgar o e w9
T ITANT AT ST B S IS AR At 7 fafir
HHAT o SSil bl GHTA § eI 22

(A) s ToH

(B) TR 3TRI%Y

(©)  Fefdf @fewer Ter)

(D) aféwa T

(E) a2

In pneumatic seeders, which of the following
device is used to create a suction pressure of 3.5
kPa in inlet chamber?

(A)
(B)
©)
(D)
(E)
ek wieU i, Tere S H 3.5 kPa T TR ST
T o foe Freferfiaa o & forer feamse &1 s
fopaT StTaT 22

(A)
B)
©)
(D)
(E)

Hopper
Aspirator blower
Ejector

Rotor

Question not attempted

L
LU IERET I
EREE
T
I RRICRE]
[ Contd...
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A system in which a crop is planted directly into
an untilled seedbed after harvesting of the

previous crop is called as-

(A) Mulch tillage

(B) Zero tillage

(C) Deeptillage

(D) Contour tillage

(E)  Question not attempted

T YorTedt S fUselt w8 sl hels o 1€ Th
FES I HY foAT SiTd gu sfis s & 2ren S g,
39 T e 7T 87

(A) UTER SATS (Ao fears)
(B) [ s Sy feers)
(C) & TS (i feew)
(D) g feas
(E) i g

In women friendly direct paddy seeder, which of
the following facility has been provided for

comfortable operations in pulling?

(A) Rotor plate

(B) Strap

(C) Swinging handle

(D) Seed hopper

(E)  Question not attempted

AiedTs % TR AW g e H, Wi §
AN G & fou fmfafiaa & @ o9 &

GIERIREE ORI R
(A) TR

(B) &4

(©) fEfifmdes
(D) HEEW

(E) Igaid g

E10]
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A tractor-mounted semi-automatic three row
plug type vegetable transplanter has a field

efficiency of for transplanting

solanaceous crops of chili, brinjal and tomato.

Teh ¢l T o7 Sref-wa=fetd i Ufth T Yo &
ooft ZigveAiet st i, ST SfiT 2aret i areidt
HEAT T UUTS o ToTT & Z&xeT 2l

(A)  75% B) 95%
(©) 45% (D) 60%
(E)  Question not attempted / 3 R

Which of the following device/part has positive

effect on seed emergence, which remain
commonly used in seed drills and planters?

(A) Furrow opener

(B) Rotable covering discs

(C) Bud chipper

(D) Planter

(E)  Question not attempted

frfafad o @ 9 97 TR/ i 3 |
FHRIH THIE STAAT 8, ST HATHAR W afiet gt 3T

Aied o ST oA SiTar 27
(A) U TR

(B) oot shafaT feen
(C) wsfaw

(D) YT 3 (%eTie)

(E)  3qaid 9%

The recommended safe storage moisture (SSM)
for cereals for one year under tropical conditions
is-

Iwehfese gftfRufaat § uw 99 & fou eH e &

forw sreifera geféa siemor 7+t (TawaT) -
(A) 13-15%
B) 6-7%
©)  8-9%
(D) 10-12%
(E)  Question not attempted / 31'@'?{?[ T4
[ Contd...
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All perishable food commodities are stored in

cold storage in the temperature range
from

(A) 16to-2°C

(B) 20to18°C

(C) 17t016°C

(D) -3to-5°C

(E)  Question not attempted

Tt 3Te TS B aTcl T 9aTt ol hics Wi §
foer AT €T 5 Sarfed foram ST 82

(A) 16"-2°C

(B) 20®18°C

(C) 17816°C

(D) -3®-5°C

(E) 3rgafd o

Crushers are the size reduction machineries.
Which of the following is not a type of crusher?

(A) Jaw crusher

(B)  Crushing rolls

(C) Ball crushers

(D)  Gyratory crushers

(E)  Question not attempted
I TR FH ATl 73 2| fmfafad 7 6
T SHI T JhR T 27

(A) SR

(B)  HIYIT U

(C) AR

(D) T I

(E) SFgaiaug

Which of the following is a time dependent
energy resource and has good potential to reduce
dependence on conventional fuels?

(A) Solar energy

(B) Wind energy

(C) Biomass energy

(D) Tidal energy

(E)  Question not attempted

freafafaa 9 @ = 91 awa smarfia et gameq &
S 39H YHUfer S99 W itar 9 i i 3=t
&TIAT 7

(A)  HR eI

(B) UaH el
(C) TS Selt
(D)  SaTR St
(E) a9

E10]
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The most widely used form of renewable energy

is-

(A)  Solar energy

(B)  Wind energy

(C)  Hydro-electricity

(D)  Geo-thermal energy
(E)  Question not attempted
T Fell T T8 AUF & T ST fomam
ST Tl 9 2-

(A) RSl

(B) YT Fel

(C) Sa-fora

(D)  q-dTdT St

(E) 3qaid 9

Solar, wind, tidal, geothermal, hydro and biomass

are the examples of-

(A) Non-renewable, conventional energy
resources

(B) Renewable, conventional energy resources

(C) Non-renewable, non-conventional energy
resources

(D) Renewable, non-conventional energy
resources

(E)  Question not attempted

ITE &-

(A) T, qrufier Sl Sare
(B) Teftertufiar, uriufies el GaTe
(C) TRttt T-qrufies Heil GaTe
(D) TRl TR-qHufieh Seil GHTe
(E) orgafau
[ Contd...
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In bio-gas production, which is an anaerobic

digestion, the correct sequence of stages in the

process is-

(A) Methanogenesis —  Hydrolysis —
Acidification

(B) Acidification — Methanogenesis —
Hydrolysis

(C) Hydrolysis - Acidification -
Methanogenesis

(D) Hydrolysis —  Methanogenesis —
Acidification

(E)  Question not attempted

- ST |, ST Ueh AT U= €, Ufehar o
< T Tl ohH -

(A)  HARAREE - TEgifafie — STt
(B) ITrcfteRtur — HiHISHRET — BTEgifetfe
(C) wEeifafid — sTreftertor — HigHeHfaa
(D) TR — HeANAaE — STt
(E) SIfaia

The category of data for planning watershed

improvement projects does not include:-

(A) Hydrological information
(B) Soil and land use data
(C) Economic and social data
(D) Load sampling data

(E)  Question not attempted

RIS IR TRFISHISAT ht ASHT S o forg e
i ooft F wnfirer 78 2 -

(A) Tt fase gt SR

(B) ot 3 sifw swamT <

(C)  fefer 3R | <2

(D) IS THAT 2T (TS GrafeiTr <)
(E) Iqaid o=

E10]
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The term used in crop water requirement in which
the crop yield found severely affected due to

inadequate moisture is-

(A) Evapotranspiration

(B) Critical period

(C) Delta

(D)  Duty of water

(E)  Question not attempted

FUA STl h1 STTAIHAT H TIh o8 [STeH ToATH
Tt o SR HE sl 3T 11T &9 § THTfad =iet 2,

TE -

(A) STSI-ATSIICHSIA (evapotranspiration)
(B)  Shifdeh a1t

(C) e

(D) ST

(E) 31gaild 9=

The quantity of water required to produce a unit
amount of dry matter can be denoted as-

(A)

Consumptive use

(B) Physiological water requirement
(C) Depth-internal yield data

(D) Transpiration ratio

(E)  Question not attempted

7% YR T 33 AT I 3G FH o [lq
SATITI YT ShT ATAT sl 36 TehI ST SITdT 8-

(A)  SUHT ST

(B) SRR STeT STawehdl
(C) TTEUE-3Tdieh 3T 8T
(D)  ATSATCES 3TATT

(E) 31gaid o
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71

72

73

Which of the following statement is TRUE for
Basin Irrigation Method?

(A) Land is divided into number of long
parallel strips called borders separated by
low ridges.

(B) Itis suitable for irrigating maize, sorghum
etc.

(C) Used for crops that are not affected by
standing water for 12-24 hours.

(D) Less time and less water required to
irrigate.

(E)  Question not attempted

S =g wefa o fore Fefafaa & @ i @
T G B2

(A) A7 T S el GAMIAL Gfgal fSiehr siie
Fed & ° fowfsra foam stram 2, o= et
! GRT ST fohAT STl 2

(B) I8 WaHI, SATL 3ATIq T =TS oh fofq 3uwh 2

(C) 3T U o foTT SU=T fomarm SITaT 8 51T 12-24
o T @S T | THTfa T2l Bl

(D) fo=E & fou w0 gag it w7 ue= f
SATFvHAT Bl 2

(E) Agaid g%

‘Pre flowering’ is a critical stage for irrigation in-

(A) Wheat (B) Potato

(C) Gram (D) Mustard

(E)  Question not attempted

o g R % oI weh Heeaqot

ST R

A) T (B) 3

(C) =T (D) @@l

(E) gaid v

Which of the following stage is critical for
irrigation in Rice crop?

(A) Crown root irrigation
(B) Sprouting

(C) Early tillering

(D) Tarselling

(E)  Question not attempted
T T HE § THETS o fofC Feferfiad 5 & &
Y ST HEAYU! &7

(A) oI & =g

(B) i

(C) Wl fetar

(D) @l

() Aqaid g

E10]
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If LR is Leaching requirement, ECy, is salinity of
irrigation water (ds/m) and EC, is the average
soil salinity tolerated by specific crop (ds/m),
then-

Ife LR femes strawgerar 8, EC,, =g st it
AT (ds/m) & qT EC, fafiTe ot g gea it
ST ATeft 3T aT 9T (ds/m) &, -

(A) LR= 5EC.-EC,

(B) LR=5(EC.-EC )ECy

(C) LR=EC/(5EC.-ECy)

(D) LR=EC,/5EC,

(E)  Question not attempted / 313’?1?{?[ BE)

Which of the following equation is used to
calculate the depth of available water(AW) to
plants?
(Given: FC,- Volumetric Field Capacity
PWP,- Permanent wilting point percentages

D= Depth of root zone)
T SRl ST UTHT (AW) 3T &S ol AT i o
o frefafaa & & fore aefiertor s 3w fomar
ST 82

(fear . FC, - diemfee hiee amar
PWP, - ®rft fafed uige ufasra
Dr= %2 S &I TeT)

(A) AW=[(FC,-PWP,) Dr /100

(B) AW=[(PWP,-D,) FC, ]/100

(C)  AW=[(PWP,-FC,) 100 }/D,

(D) AW=[PWP,-FC,]/ D,

(E)  Question not attempted / Gilaﬂﬁ?f Tq

Which of the following soil-water movement is
correctly matched to its cause?

(A) Saturated flow- Matric potential gradient

(B) Unsaturated flow- Gravity’s pull

(C) Internal vapour movement- Difference in
liquid water pressure

(D) External vapour movement- Surface
evaporation of soil water

(E)  Question not attempted

frefafad ® € &9 971 JaT-Sef =0T ek R0 o
E @ W A W 27

(A) W YaTE- Hf¢H forvd Jaurar

(B)  3TEdH YaTe- Tecd Tyl flg=ma

(C)  ATeh AT H=T - A YT o GalTd § SFaT
(D) ST TS H=T - HaT STA T Fdal AT IR
(E) orgafau
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Which of the following is not a category of soil

water?

(A) Hydroscopic water

(B) Hydrosphere water

(C) Capillary water

(D)  Gravitational water

(E)  Question not attempted
frferfaa & & % gar STt <1 vft 7 &2
(A) SATESIHR I

(B) SdHSA SA

(C) i IIA

(D)  TT&caTehYUT et

(E) 3rgafid o

The most accurate method or device to measure
soil moisture is-

(A) Tensiometers
(B)  Gravimetric method
©
(D)
(E)
a7 HT A9 T g e fafer A Ik 2
feiex

Afemfeen fafa

foraIa =TeTehaT AT aTel ST
=g e e

IR 99

Electrical conductivity measuring devices
Neutron moisture meters

Question not attempted

(A)
(B)
©
(D)
(E)

E10]
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Match List I with List IT
LISTI LISTII

a.  Unconfined I. Artesian aquifere
aquifers

b. Confined II. Aquifer
aquifers

¢.  Semi-confined II1. Watertable aquifer

aquifers

d. A body of IV. Leaky aquifer
rocks/sediments
that holds
groundwater

T 1o gt 119 gaford st
afer 1 gfer

a. 3fEgH I 3cgd (M)
EEEGH EEEGH

b. UREgESevd 1. Sovd

3Td-TEgT ST 111 ¥ STefedt ST
TeRiATSe B 1V, T S,
e fie St et
T T AT &

Choose the correct answer from the options given

below:

< e e ferpent & e e

(A) a-ll, b-1V, c-111, d-1

(B) a-II, b-1, c-1V, d-II

(©) a-l, b-I1, c-1V, d-1

(D) a-ll, b-1I1, c-1, d-IV

(E)  Question not attempted / ﬂ'ﬁﬁﬁ Iq

Who among the following may be called the first

prose writer of Rajasthani literature?

(A) Lakshmi Kumari Chundawat
(B)  Shiv Chandra Bhartiya

(C) Mal Chand Tiwari

(D) Tej Singh Jodha

(E)  Question not attempted

Frefafaa & o 58 et arfeer 1 Jom T
TGS el ST TehlT 27
(A) EH! FAN Herad
(B) TTa =g wd™
(C) W 9e faart
(D) o g e
(E) 31gaid o
[ Contd...
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The life history of the saints which is available in
poetry form in Rajasthani language is known
as :

(A) Prakas (B) Marasya
(C) Parchi (D) Rupak
(E)  Question not attempted

TS 99T § hled ®9 § 3USsY Hdl l Ao
i FHEATT 2
(A) THE

(C) G

(E) gaidud

‘Baataan Ri Phulwari’ is written by:-
(A) Shri Lal

(B) Laxmi Kumari

(C) Vijaydan Detha

(D) Malchand Tiwari

(E)  Question not attempted
‘a'lT'lTlngv_vl?:lTﬁ’ Torereh g fordt 778 2
(A) St

(B) et AT

(OBREEEEHEED]

(D) TR faart

(E) 3rafd 9

(B) W=
(D) ®UF

Which dialect is spoken in the areas of Banswara
and Dungarpur?

(A) Mewati (B) Shekhawati
(C) Wagadi (D) Hadoti
(E)  Question not attempted

AT U6 SR & | i €1 et it STt 82

(A) WaTdt (B) @mEml
(C) AT (D) =TeErd
(E) 3rgaid 9

is the kind of poetry work which
describes the great achievements of a dynasty or
an individual.

(A) Vigat (B) Rupak
(C) Veli (D) Saakhi
(E)  Question not attempted
T 1A I & ST ToRe TSTaT A7 SAfh
! TR SUAToHAT T FUH L] gl
A) fama (B) ®U%
(C) dfa (D) ¥t
(E) Igaid o=

E10]
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Which of the following is a rhyming prose-poetry
form written in Rajasthani?

(A) Prakas

(B) Vaat

(C) Vachnika

(D) Jhamaal

(E)  Question not attempted

frefafiad o @ i |1 Tseerr 7 foram = qeid
TE-HEA Y 27

(A) 9™

(B) drd

(C) T=feRT

(D) ™I

(E) Fdia =

Which lake is surrounded by more than 500
temples and 52 ghats?

(A)
(B)
©
(D)
(E)  Question not attempted

I €l gt 500 § ek it 3 52 |l ¥ fory
wWa
(A)
(B)
©)
(D)
(E)

Anasagar Lake
Pushkar Lake
Siliserh Lake
Kaylana Lake

ST et
TRt e
fafererg sfier
EREIEIEIS)
AN 94

In Rajasthan, which of the following type of
forest is found only in Mount Abu region?

(A) Palash Forest

(B)
©
(D)
(E)  Question not attempted

T ¥ fefRad & @ foh YR 1 a9 shae
IS ST & H U7 ST @ 2

(A) YIRTET

(B) SUMTRfesefa qdd o=

(C) Y |EIA I

(D) ¥R ET

(E) qaid o

Sub-tropical Mountain forest
Dry teak fores
Salar forest
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Which fort was built by Raja Bar Singh?

(A) Chittorgarh Fort

(B) Bhainsrodgarh Fort

(C) Taragarh Fort

(D) Mandalgarh Fort

(E)  Question not attempted
TSI SR 8 = i 91 foheT sam o
(A) ferdieme e

(B) HaliEe fohar

(C) RIS fohelt

(D) WSS fohatt

(E) SAfafiaug

Who among the following designed Hawa
Mabhal?

(A) Lal Chand Ustad

(B) Man Singh

(C) Guman Chand

(D) Umaid Singh

(E)  Question not attempted

freferfaa o o ferem gar mee 1 fesigT dam foman
AqT?

(A) I =g &S
(B) #AFfEE

(C) THWEg

(D) e fir

(E) 3rgaid o

Which of the following is not correctly matched
regarding forts of Rajasthan?

(A) Siwana Fort — Barmer

(B) Lalgarh Fort — Bikaner

(C) Mehrangarh Fort — Jaipur

(D) Bhainsrodgarh Fort — Chittorgarh
(E)  Question not attempted

TS o el o Hee § FefciRad & & & 41
ifera 7 27

(A) Toramr fopet — aTeiR

(B) dTaTg fehedT — et

(C) HEUTg fehell — SR

(D) ¥EUSTE fehet — foriteTTe

(E) Iqaid g%

E10]
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92

The method of water removal based on the
sublimation of water from a frozen material under

high vacuum is known as-

(A) Convective drying

(B) Conductive drying

(C) Lyophilization

(D) Kinetic drying

(E)  Question not attempted

I=a fHafd o s g werd @ urt & U W
e siet e S fafir i e &2
(A) G oot

(B)  WaTEhIT Yookt

(C) a3 (Lyophilization)

(D) TIferST ket

(E) rgdia o=

With reference to ‘Psychometric Chart’, which of

the  following  statement is  correct?

Conventionally-

(A) The temperature is taken as the ordinate
and the humidity as the abscissa.

(B) The moisture content is taken as the
ordinate and the temperature as the
abscissa.

(C) The speed of wind is taken as the ordinate
and the time is taken as the abscissa.

(D) The time is taken as the ordinate and the
speed of wind is taken as the abscissa.

(E)  Question not attempted

TSI A1 o HeH H, FHHfRad | & Hi |1

Y el 87 TRUTE €9 9-

(A) TTOHM HT HIE S ATEAT T U & &9 H
foa Sfar 21

(B) ¥t 31 HTAT i hIfE ST ATIHH I 9 & &9
% foram St 2

(C) & ol TIfeq ol hifS I Ew ol oSl & &I H
INEISIGIE

(D) EWF I HIfE I EST hl T S o T H
fora Sfar 21

(E)  3fmild o=
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The Psychometric chart is used to-

(A) Represent the state of moist air.

(B) Represent the speed of air.

(C) Represent the atmospheric pressure.

(D) Represent the value potential energy in the
air.

(E)  Question not attempted

TTSRIATIS =TS T STANT fhereh foIu o Simar 22

(A) T8 gar it feufd o feaor &+ & g

(B) &4 sl TIfd %1 fequr A & fot)

(C) TwSH 3o 1 fT&uu &t o fag)

(D) T feufst 71 St & He 1 faor et
= forg)

(E) 3rafd 9

The main quality factor that may be adversely
affected by freezing of food products is-

(A) The nutritional value
(B)  The flavour of food
(C) The colour of food

(D) The texture of food

(E)  Question not attempted

Qe ICTRT oAl ShISt i | TS 9 TurarT ik 1
Sfaehel TS U HehaT 2, I8 B

(A) W

(B) IS T gaTH
(C) wFH T
(D) NI il sH1Ee
(E) Faiea a1

Halogenated hydrocarbons are the preferred
refrigerants for household refrigerators and air
conditioning. From the following, select the
correct matching of halogenated hydrocarbon
and their example.

SeAISYTh  BIggihre Bl sl 3R TR
ST & fore wedieT Wesie 8 Fefaied & 9
TAISHIh BIESIHE SN ITh 3T H Hel

[EEIERCE]

(A) CFC, R-22
(B) HCFC,-R-12
(C) HFC,-R-134
(D) HCF,-R-18

(E)  Question not attempted / 34@3'&?[ Iq

E10]
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97

From the following, select the correct pair of

ionizing radiations used in food processing.

(A) Electron beams- X- rays and 3 - rays

(B) Electromagnetic waves- yrays and X- rays

(C) Electron beams- yrays and cathode rays

(D) Electromagnetic waves- cathode rays and
Brays

(E)  Question not attempted

fmafafad o o @ e 9 3 for S are
SRR TrfertoTt it et STt 1 =9 i

(A)  ForRH foRTordS - X - foredt 3R B - fomeot

(B) forqerarehia @it - y ool 3K X - ferot

(C)  SeragH foRToTgS - y foreul Sl it feredt

(D)  Torgaerarehia qdi - sheire farwot ot p fomeot
(E) rgdia o=

From the following list, select the correct kind of

sources of radiation used for food processing-

a. Isotope sources

b. Heavy metal sources
c. Electron accelerators
d. Inert gases sources

Choose the correct answer from the options given

below:
(A) aanddonly
(B) bandconly
(C) aandconly
(D) bandd only
(E)  Question not attempted
frrferfiad = @, @ s & foe 3w fag
ST aTet ferfortor < W2t TR o | T =3 hi-
a.  UHEATH (JMFHIRIT) Hid
b. WA Ed
c. géafﬁm
d. fftwaiwdna
<R e Faeet & e S
(A) Hada3Md
(B) aalb AN ¢
(C) Hada3iMc
(D) wadb IR d
(E) 31gaid o
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Which of the following is NOT a basic property
used to describe the rheological behaviour of the

material?

(A) Elasticity

(B) Plasticity

(C) Thermal conductivity
(D) Viscosity

(E)  Question not attempted

frefetiiga o & =i |1 9e 707 werel o felteitsree
SITER T qUI A o ToTq I T2 foram s 22
(A)  IcITEYET

(B) Tty

(C) aATdIT ATeTehal

(D) ¥FMar

(E) 3rgafid 9

Laboratory instruments for food based on near
infrared use wavelengths of for

determining the composition of samples.

frene 31ath T STt @ veret & fofe wmeer

ST AT el LT (et it o fog
T 2= T ST A B

(A) 1to5x108

(B) 11to15x107

(C) 6to8x10"

(D) 1to10x 107

(E)  Question not attempted / H@ﬁﬁﬁ 949

Atwhich of the following place the ICAR-Central
Institute of Post-Harvest Engineering and
Technology (CIPHET) is located?

(A) Ludhiana, Punjab

(B) Nasik, Maharashtra

(C)  Allahabad, Uttar Pradesh
(D) Bhopal, Madhya Pradesh
(E)  Question not attempted

ATSHTIRHIA TR BERST  SSli-aiar ug
Trenfireht sea (Hengdivasd) fafafaa 7 @
forg sy @ R 22

(A) IR, ST

(B) Ty, HERTSE

(C) SATETEE, AT YT

(D) T, TET JeIT

() AJaid g%

E10]
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The greenhouse is capable to maintain temperature

approximately higher than the
ambient temperature.

ey, Ui AT o ST AR
ATIHT ST W& H Gaw 2

(A) 4-8°C

(B) 10-15°C

(C) 20-28°C

(D) 30-36°C

(E)  Question not attempted / 313’?1'?{?[ BE)

Which of the following is not a type of solar

dryer?

(A) Low height solar tunnel dryer

(B) Natural convection-type solar dryer
(C) Forced conduction-type solar dryer
(D) Walk-in-type solar tunnel dryer

(E)  Question not attempted

et & & 9 |1 § g T Yo T8 27
(A) ¥ T3 AT R G () PR
(B)  WTeh[cioh HaE-JehR 1 G SR

(C)  JONfEd ATeH-YehR T TR R

(D)  JTh-ZA-YhR I N 2T SRT

(E) gl o=

Diesel is a mixture of-

(A) CgHgto CiyHy, hydrocarbons
(B) CysHj; to CigH3g hydrocarbons
(C) CsHy4 to C4H ¢ hydrocarbons
(D) CyoHyyp to CyrHyg hydrocarbons
(E)  Question not attempted

it fererehr firsgor 82

(A)  CgHig to CoHy, BTEGIHTE

(B)  CysHs to CgHsg BTSZIHTSA
(C)  CsHiy to CH ¢ BTESIHTEH

(D) CagHyy to CopHys BTEGIRISH
(E) 3gaid o=
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Which of the following is not correct?
Choose the most appropriate option from below:

(A) Battle of Tunga was between Rajput and

Maratha

(B) Battle of Patan was between Rajput and
Maratha

(C) In battle of Tunga, Maratha had the upper
hand

(D) In battle of Patan, the Maratha army was
victorious

(E)  Question not attempted

ffetiad 5 9 & 91 981 T8 82

1 1 4w 3ugh forshe =14

(A) T Y TTTS TSI TR 71T o off=r g8 off
(B) T sl TISTE TSI I 7T o o= g8 off
(C) ot ISTE § USRI T UeTel | o
(D) U ol TITE H AT A1 forstaft g3 oft

(E) SIgaia

What is the ancient name of Jaisalmer?
(A) Vagad

(B) Hadoti

(C)  Shekhawati

(D) Mand

(E)  Question not attempted
SIEHT T JT=AA A7 T 82
(A) dre

(B) ®rErdt

(C) @EmEr

(D) i

(E) SFfdia =

Who discovered Paleolithic tools from Jhalawar?
(A) C.A. Hackett

(B) Seton Karr

(C) V.N. Mishra

(D) Vijay Kumar

(E)  Question not attempted

FATCATATS | QTSI I o TSR T @IS e
1
(A)
(B)
©
(D)
(E)

€U, 396
T H
EIRCREE
fersrr e
AR 94

E10]
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In which of the following civilisation, the sun

baked bricks were used to build houses?

(A) Ahar

(B) Gilund

(C) Kalibangan

(D) Ganeshwar

(E)  Question not attempted
frfaRaa o & forg wvarar 7 s s % g g o
At &% 30 T STANT fofaT 7T T2
(A) TS

®) fids

(C)  hreftsmm

(D) TR

(E) 3gaid 9%

Who was the court poet of Prithviraj T11?

(A) Chandra Bardai

(B) Banabhatta

(C) Harihara

(D) Ramanuja

(E)  Question not attempted
QeI AT T GLERT i i T2
(A) WIESHETE

(B) g

(C) e

(D) THTIS

(E)  3fmiid 9%

Where is the memorial of Rana Sanga located ?
(A) Dholpur

(B) Mandalgarh

(C) Kumbhalgarh

(D) Udaipur

(E)
TOT |7 6T THR el 22
(A) IR

(B) WieaTe

(©) Frvee

(D) 3AW

(E)

Question not attempted
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Who among the following presented the first
scientific classification of Rajasthani painting?
(A) Dr. RK. Vashishtha

(B) Dr. Motichand

(C) Dr. Faiyyaz Ali

(D)
(E)  Question not attempted

fAfafaa 7 & forae TSTeT fesehet &1 v&el
ST aTffeRtoT S fopar?

(A) BT IR IR

(B) I A

(C) . F=aT o7l

(D) TS HH TTHT

(E) Agaid g%

Anand Kumar Swami

Which one of the following city of Rajasthan is
known as city of forts and havelis?

(A) Bundi

(B) Jaipur

©
(D)
(E)  Question not attempted

TS & FHHfIRad § € frd et &l fohddl 3R
FATTIT % YT o &Y F ST ST 87

(A) &

(B) AT

(C) SHaw

(D) Si¥g

(E) 3rgaid o

Jaisalmer
Jodhpur

Which of the following award given by Rajasthan

government in the field of enviromental

conservation and awareness?
(A)
(B)
©
(D)
(E)  Question not attempted

TRTEIOT TTETUT Ue STkl o &1 1§ TSTET T
g freAfeTiad o 9 shiH-81 qUehr fedr STt @ 2
(A) e < T TR

(B)  SITehT et THITh JLEHT

(C) A9 ot THTeh JLEhR

(D) AT 3T THI TEHT

(E) Aqaid 7%

Sita devi memorial award
Janki devi memorial award
Amrita devi memorial award
Asha devi memorial award

E10]
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Mabhi Bajaj Sagar Project has been built at which
of the following village of Rajasthan?

(A) Boravas

(B) Borkhera

(C) Ramgarh

(D) Sagarmal

(E)  Question not attempted

T SISTTST ST TS TSTETH o TS TTia  SH18
TSR
(A)
(B)
©)
(D)
(E)

EIRELR)
siTerer
{HTe
A
TN 9

Which of the following region of Rajasthan is
affected by desertification? (Choose the most

appropriate option from below)

(A) Northern

(B) Southern

(C) Eastern

(D) Western

(E)  Question not attempted

TS 1 Ffifad o & i 9T 8 HeeerefieRr
G rferd 87 (e o 9 werd SUh farehed <)

(A) 3t (B) aferft

©) (D) dfeeft

(E) 3gild o2

Which of the following region of Rajasthan share
their boundary with Pakistan?

(A)
(B)
©)

Jaipur

Pali

Bikaner

(D) Churu

(E)  Question not attempted
TSR I FEfRad o € 9 97 & JTfohed™ &
T 37T HTHT | LT &2
(A) SR

(B) Uradt

(C) MR

D) =&

(E) 3gaid o=
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Raghunathgarh peak is located in which of the
following region of Rajasthan?

(A) Northern Aravallis

(B) Central Aravallis

(C) South eastern Aravallis
(D)  Southern Aravallis

(E)  Question not attempted

TATTG RIE TSTeer & frfafiga 5 ¥ forg am o
frora g2

(A) A8 et

(B) HYH Il

(C)  afeor qeff srreredt

(D)  efeoft srraredt

(E) 3rgaiid 9

Which of the following wildlife sanctuary is
situated in Churu region of Rajasthan?

(A) Mount Abu

(B) Tal Chhappar

(C) Ramsagar

(D)
(E)  Question not attempted

FHATRad 5 & & °7 aasi1a STHIRuT TSEIH o
T & | T 27

(A) WIS AT

(B) dTet BT

(C) THETR

(D) gssiTe

(E) gaidud

Sajjangarh

Which of the following statement is not correct
about black soil of Rajasthan?

(A) Thissoil is formed in south eastern districts
of Rajasthan

(B) Itisacheeka dominated soil

(C) It contains enough quantity of nitrogen

(D) This is a good soil for commercial crops
like sugarcane and coriander

(E)  Question not attempted

TTEAT sl Shiedl figt & IR | ffafga 9 9
|1 o U2 T8 82

(A) e firgh TsteaT o féqor oalf foral & ot &

(B) TEimyuE gt

(C) =H TTZ2ISH T qFTH AT el &

(D) T& =T 3T G St et Badt &
fore sr=at gt 2

(E) Srfaiaud

E10]
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In Rajasthan, droughts are caused mainly by
failure of rainfall from:-

(A)
(B)
(©)
(D)
(E)  Question not attempted

TSTEI | T 7 ®9 Y At s fardperdr
o I BT 2

(A) IS HYT

(B) eferor-ufar qET

(C)  afqurgd A

(D)  ITR-FE0r AT

(E) 3qaid 9

North-West monsoon
South-West monsoon
South-East monsoon

North-South monsoon

Malwi cow breed is found in which of the

following region of Rajasthan?

(A) Jhalawar (B) Bikaner

(C) Jaisalmer (D) Barmer

(E)  Question not attempted

HITST T AT T TSI o FHefaiad | § ford
SERRIE G

(A) HTETS (B) s

(C) ST (D)  sTERT

(E) 3gaid o

In Homogenization, fat globule milk serum

emulsion is stable when size of fat globule is-

(A) equalto0.1 um

(B) Lessthan 0.7 pm

(C) Equaltol pm

(D) More than 1 pum

(E)  Question not attempted

EHISHTSSITM H, F8T Tleddl- g9 I $He a9
TEoR BT & STeT T TS T SRR BT &-

(A) 0.1 pm % T
(B) 0.7 pm¥FH
(C) 1 pmaF TR
(D) 1pm T Afees
(E) aid 9
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One ton of refrigeration heat is equivalent to the
amount of heat required to melt 1 ton of ice at 0°C

in-

(A) 1 hour (B) 12 hours

(C) 24 hours (D) 1 minute

(E)  Question not attempted

Teh 7 TRITa ST 0°C T 1 ST TH FAl..........
T foreret o foTe Strarvares SoaT i 77T & SUer 2
(A) 1T (B) 127%

(C) 247%C (D) 1T

(E) gaid o=

The temperature for thermal processing of food

materials depends upon the heat sensitivity of-

(A) Protozoa (B) Bacteria

(C) Fungi (D) Viruses

(E)  Question not attempted

TR 9aTT o ST THERT o Toq qT9HT foheehl
AT HoGRierar o T LT 82

(A) TS (B) s=if@r

(C) hdh (D) 4™

(E) SIfaia

In tray dryer/ cabinet dryer hot air is blown

uniformly at a speed of through a system
of ducts and baffles.

(A) 0.1-0.2 m/s

(B) 0.2-0.4 m/s

(C) 8.0-9.0m/s

(D) 0.5-5.0m/s

(E)  Question not attempted

3 SR /e SR | TH BT ol AloTahist 3R
IheH I T JUITCHT o AT & EIRIIGA:)
A §Y Y I ST 2

(A) 0.1-0.2 Hiev@hs

(B) 0.2-0.4 Hiey/¥shs

(C)  8.0-9.0 Hiev/aHe

(D)  0.5-5.0 HeyThs

(E) Igaid g%

E10]
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126

127

Direct sublimation process without passing
through liquid water state using the triple point of
water is applicable in

(A)
(B)
©)
(D) Bagdrying

(E)  Question not attempted

T 2 TOT foig bt ST ohteh oitet et Sfaredt §
TSR o Sewer Sedutad wisha 7 @
2l 2l
(A)
(B)
(©)

Freeze drying
Sun drying
Chemical drying

SHIST Y[k

47 A

R IRIEER IS T
(D) ST YA

(E) rfdia =

In dryers, the ratio of latent heat of evaporation,
to the total heat energy of the fuel charged is
known as-

(A)
(B)
©)
(D)
(E)  Question not attempted

I W TSRO ST TTH SSHT qT 34 1 AT ol
Tl HHT Frll o STTATA bl T Fad &7

(A) ST SYHIT HHh

(B)  WeRIH I TuIleh

(C) Tt S5HT SUINT St

(D) ST gegar

(E) a1

In impingement dryers, the typical air temperature

Heat utilization factor
Coefficient of performance
Effective heat utilization energy
Thermal efficiency

range is typically 100-350°C and jet velocity is

(A) 2-4m/s

(B) 4-5m/s

(C) 10-100 m/s

(D) 6-7Tm/s

(E)  Question not attempted

gftdsiie g W, 91 a9 WG 100-350°C
T AU H T € SRS A qaTE

(A) 2-4Hicyashe

(B)  4-5 Hiaydshe

(C)  10-100 Hiey/8hs

(D) 6-7 HieyaFs

(E) orgafau
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Early and indigenous style of Rajasthani painting
can be seen in the ?

(A)
(B)
©)

Marwar School

Mewar School

Hadoti School

(D) Dhundhar School

(E)  Question not attempted

TereH famser it uifye 3R weeft Sieft
T 3T ST Tl 82

(A) TS T

(B) WIS T

(C) EreHdl T

(D)  Eare T

() Aaid g

Who established a picture gallery in the palace
which was called, ‘Tasviran Ro Karkhano’?

(A) Maharana Jai Singh

(B) Maharana Amar Singh

(C) Maharana Uday Singh

(D) Maharana Jagat Singh

(E)  Question not attempted

& H Ueh ferar Trerd) it o fore <, fSrer sqeieg
T HREH FhaT ST °T?

(A) wEwn S e

(B) WERIUT 3T fifg

(C) Hew 387 fie

(D) HERIVT SATd &g

() 31aid 9

In which fort do we find ‘Nine Identical Suites’?
(A) Gagron (B) Taragarh

(C) Nahargarh (D) Chittorgarh

(E)  Question not attempted

frafri i ad ram gge fired &2

(A) TTRH (B) dNNTE
(C) ARG (D) TuiteTe
(E) gaidwd

The painters of the Joshi families of Shahpura in
Bhilwara have been the traditional artists of
which folk art form?

(A) Mandana (B) Phad

(C) Paane (D) Kavad

(E)  Question not attempted

iTaTST % IMETW & SRf 9iar & fomer fora
ST el oh TRUTER HelTehR & 82

(A) HiEwm B)

©) uH (D) FEg

() Aqaid g

E10]
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133

134

135

To which painting school does Bani-Thani

belong?

(A) Marwar (B) Kota
(C) Chavand (D) Kishangarh
(E)  Question not attempted

ATt foret Termrehet Topet © Haifera 22
(A) HRETS (B) @rT
(C) dEs (D) foremg
(E) 3{aid 9

Who was the founder of Vishnoi sect?
(A) Dhanna (B) Jambhoji
(C) Pipa (D) Harbhuji
(E)  Question not attempted

IS Tvyem % HEdTIs S 92

(A) &= (B) SRSt
(C) (D) ST
(E) 3gaid 9%

Which of the following is the folk dance of
Sahariya tribe of Rajasthan?

(A) Machli dance

(B)  Shikar dance

(C) Chari dance

(D) Jhumar dance

(E)  Question not attempted

frefaRad & @ sF-a1 Teeae $i gefeEr sEsfa
T AR 87

SNERENIER

(B) T

(C) =TI

(D) T

(E) SAgafiawd

Which of the following is directly associated with
the celebration of camel festival in Rajasthan?

(A)
(B)
©)

Jaisalmer

Bikaner

Udaipur

(D) Sawai Madhopur

(E)  Question not attempted

Frrafafad & & # Tsea™ § 3 qelcdd % Icdd
H e [T 3T 7

(A)
EIEACDY

(B)
)
HaTg AT

(©
(D)
I RRICRE

(E)
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From the following list, select the type of wells
based on the type of aquifer supplying water to
the well.

a. Water table wells

b. Artesian wells

C. Leaky wells

d. Saturated wells

e. Unsaturated wells

Choose the correct answer from the options given

below:

(A) canddonly
(B) bandeonly
(C) aandbonly
(D) a,candd only

(E)  Question not attempted

frmferfiea gt @, 350 st STet ST S aTel STevd,
o Je o SATUR T U o TR b =0 i)

a. %ﬁqwgﬁi

b.  3IHd (fefaE) FE

C. ﬁ'@lﬁ'{{?ﬁgﬁ@

& W

e. 31'9?‘!37335@

it faw T forshedt # @ wEl I H:
(A) wadcId

(B) Fadb3e

(C) Hada3Mb

(D) Fada, c A d

() gaid v

Which of the following is not a type of tubewell?

(A) Cavity type wells

(B)  Strainer type wells

(C) Flat strata wells

(D) Shrouded wells

(E)  Question not attempted
frefetfiad o & =i o1 sy 1 Yo Te & 2
(A)  TTRT ( Hfardh) wehm o
(B)  BeI(ELH) FhI o %
(C) |HAA & % FU

(D) wiEfEd gu

() Iqaid g

E10]
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138 Following are the different structures in an

irrigation system. Arrange them in proper

sequence.

a. Canals and canal structures

b. Cross drainage works

c. Main reservoir

d. Diversion head works

e. Canal outlets

= woret § fafimT dwamd fefafaa )
F-8 3rad 3H § HAd &l

a. WWWWT@
b.  ohi SN ToH

c. TSI IARM

d. fewafadt o & (e 2 999)
e.  TRLIARIR

Choose the correct answer from the options given

below:

it faw e freredt 7 @ @ ST
(A)  a-e-b-c-d

(B) c-d-a-b-e

(C) d-ab-ec

(D) c-a-e-b-d

(E)  Question not attempted / 37T )
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139 Match List I with List 1T
LISTI LISTII
a. Movement of irrigation ~ I. Infiltration

water from surface into
and through the soil
Downward movement IT. Seepage
or entry of water into
the soil surface

The movement of water  III. Percolation
through a column of soil
Downward and lateral IV.Water intake
movement of water into

the soil

=it 1ol =t 119 grferd s

gfer 1

e © fugh o qum
3G AT | g
EEEIRERE]

firgt < g & T
o1 e it ST g
RIREE
[EEEREEL T
HTETY © YT T TEaT
forgh o wrelt ot e B
3R 37 uififsh Harer

afrn

[. 3fd.&eT

1. e

[11. 3fq:|d0

IWAS RGPS

Choose the correct answer from the options given

below:

it fow T forshedt # @ wEl ST H:

(A)
®)
©
(D)
(E)

a-I1, b-1, c-1V, d-11T
a-11, b-IV, c-1, d-11
a-1V, b-1, c-111, d-1T
a-1, b-111, c-1I1, d-TV
Question not attempted / 34@3'&?[ Iq
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140 Match List I with List 1T

LISTI LIST II

a. Theentire fieldis 1. Basin Irrigation
flooded by water

b.  The water is fed II. Sprinkler
into small channels Irrigation

c. Irrigation water is
applied in strips
of land III. Furrows Irrigation

d. Trrigation is similar TV. Border Irrigation
to natural rainfall

=it 1 =0 =t 119 gaferd i
a1 e

2 WA L e R
ST ®

b. Ul I BIE-BIE 1. foieer [
EURPIRESCISIGIE

c. TERSa=qmd 1L g fbEE
TR H I ST &

d. YHeawisTaE V. e e
e

Choose the correct answer from the options given

below:

<R o e Pt i & e SR

(A) a-Il, b-IV, c-I11, d-1

(B) a-L, b-IIL, c-1V, d-11

(©) a-ll, b-II, c-1, d-IV

(D) a-IV, b-l, c-IIT, d-I1

(E)  Question not attempted / aqgﬁﬁ?r Tq

[ Contd...



141

Given below are two statements:

STATEMENT 1I: The most advanced and
efficient practice of wusing fertilizers is
‘fertigation’.
STATEMENT 1II: In fertigation, fertilizer
application is made in large doses that fit within
scheduled irrigation intervals which is uniform
for all types of crops.

In the light of the above statements, choose the

correct answer from the options given below:

(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is true but Statement II is false
(D) Statement I is false but Statement II is true
(E)  Question not attempted

HAT I: I o ITINT T Fad I 3 HIA
T IR )

U 11: BN T, Itk T ST 91 7T
fofarm ST @ ST Srqefera fe=mg sfcet & it fthe

a1 3 ST Tft TR T et o fore e R)

IYUH FUAT o Fehrer H, = faw e foreredt o @ et
EALSCEE

(A) T I HIT 11 ST T &

(B) e 1 30 e 11 1 Teld &

(C) T [ U © Ak o 11 TeAd @

(D) Y [ 7T & WAfh o [ T @

(E) SFfafiaug
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143

144

Which of the following is not a type of surface

drainage system?

(A) Bedding systems

(B) Furrow systems

(C) Vertical systems

(D) Ditch system

(E)  Question not attempted

g 0 @ =i gadt St ARt Torredt st TR
TR 7

(A) LT (SAFET) orreft
(B) T YUITedt

(C) FEareT YorTed?

(D) @3 JorTet

(E) Iaid e

The term which refers to all forms of water
derived from atmospheric vapour and deposited

on Earth’s surface is known as:-

(A) Interaction (B) Runoff
(C) Precipitation (D) Infiltration
(E)  Question not attempted

IE 7og ST AIHSAT AT § UTH SR gect 1 ddg
O ST 9T o Guf ®9T BT He i LT §, SH 39 &Y

H ST ST 2: -
(A)  Sa:fsram (B) HUATE
(C)  3TF&qor (D) Ha:Te
(E) 3gaid 9%
In the hydrologic cycle, occurs from the
water surface as well as from land surface.
(A) Evaporation (B) Precipitation
(C) Transpiration (D) Runoff
(E)  Question not attempted
Ao =I5 (FTRSIAlfSIRe =ish) H, STt
AT o AT-HT 1 Hae ¥ o Ear 2l
(A) aTsdieRTor (B)  TI&YT
(C) dATSIIeHSI (D) 3A9ATE
(E) 3Jaid 9
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147

A portion of rainfall which moves down to the
streams, lakes, channel or river as surface or sub-
surface flow results in

(A) Transpiration

(B) Hydrologic Cycle

(C) Evaporation

(D) Runoff

(E)  Question not attempted

gt 7 U et S Hdg AT SU-UAE YaTE & 9 H
Ffeat, s, =99 I T T I ST 8, SHh

ofomeass . TR
(A) aTSIICHS

(B) S

(C) aTSdTehIuT

(D) 3UdTE

(E) i g

Which of the following are related mostly to
hydraulic properties that govern water flow such
as; size, cross section and slope?

(A) Interception

(B)  Channel characteristics
(C) Climatic factors

(D) Watershed characteristics

Question not attempted

ﬁmﬁmﬁﬁ@?ﬁn@wﬁwmﬁﬁwﬁa
mm@rm@ﬁaﬁﬂvﬁ S SATHIT, HATTE FIE 3T
TN & Tt &

(A) ST

(B) e faivard

(C) STl Itk

(D) STeAfaTSTeh faivard
(E) 3rgafid 9

The hydrographs which are obtained by directly
measuring the runoff rates from watersheds are
called as-

(A) Dimensionless hydrographs
(B)  Unit hydrographs

(C) Natural hydrographs

(D) Basic hydrographs

(E)  Question not attempted
STITTTSIeRT & 3TYETE i L ol €Y ATIRT ITH FohT
ST ATe STATCIE 3hi T el STl 82
(A) SAHEN AT

(B) T TG

(C) TRl SATcd

(D)  STURNT STeATeiE

(E) Igaid g%
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150

The hydrograph that would result from 1cm(or
Imm) of excess rainfall occurring during a storm
of particular duration and assumed to be the
representative of the runoff process for a

watershed is called-

(A) Synthetic hydrograph

(B) Natural hydrograph

(C) Dimensionless hydrograph
(D)  Unit hydrograph

(E)  Question not attempted

T STTera it fore! ferRI STarfr o6 QT o SR &
areft 1 @t (@ 1 fodh) stfafes aof @ st Ear
iR 8 SafeaSs & v suae wisr @&
TTCTTer AT ST &, S T el ST 82

(A) fHafes Somoe
(B)  Tehfah Sialeid
(C) ITEMER AT
(D) 1S STl

(E) a9

In which of the following, the removal of a thin,
relatively uniform layer of soil particles takes

place?

(A) Rill erosion

(B)  Sheet erosion

(C) Mass erosion

(D)  Gully erosion

(E)  Question not attempted

et o & ferem qar short & ueh e, sTueea
THHH 9T B2T8 STl 22

(A) T sruET

(B) 3fle 3qET

(C) SIHM A9LEA

(D) AT TYTEH

(E) 31qaid 9

Which of the following is not a form of water
erosion?

(A) Sheet (B) Fence

(C) Rill (D) Gully

(E)  Question not attempted

ffaRad & & o 97 S ST9E o U §9 T8 7
(A) 3 B) =€

©) Fa (D)  SHATICTHT

(E) orgafaus
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SPACE FOR ROUGH WORK / T% & o feTu Lo

IR T | &l WA & - e Fir 3 ety S, ot S ox ottt et Sie ¥ U6 qiarel o8 e ohi a1 Siaar
afteren <kt €T, wtereff wert foeter ufd <t STem et ol | sereh g 3T e ol qet Wid ol 319 urd ST 3R, Tt
il <1 9t Ui & e ATST U A1 L M Yeieh ST T qlieelT shi @i | wltemeff fedta wfa =t svoq aror ot
SR |
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